
2. (c1 dffid ffi t fic er rqri E ? sBqr qq
sTEri (Tools) eE4 d&q | 16

grql

Cq +4r Elrrr frax fr qRqFrT ffftc r +ar Ecurr
fiar i qr+ esa d&q r 16

(3r) ,TrCd + fqkiqr +4Eil + {qd n Ai ErA
q-{drdl T{ frMr t6

3ITET

CO qr.frc qfq+rw t qD+}qur i-qF 6r {6(?
rqse dfrq r t6

(:D Fq?uFr+ Eq'n +r qd, eEq q+{ qrfr *qsa

dlqc r rc

3lrqr

(E) Ir<;sL{s qt<F{-y(Fr t qrq Ecr srri e ?

E{+ Tfirt +1 qqi qflfrc r 16

(q) .1166 srl t qn wr Fra+ a ? TrEE q{i
c( s.{ra Erf,m qrd +} ere d1}\ r 16

lril[

(O sriqkr+ Ei-.sr f,r a ? s+ frsfftd Fr+ sr+
qr++H? ? t6

AQ-r27s A

M.Com. (Semester-I) EIaminatiotr
SERVICES MARKETING AND CUSTOMER

RELATIONSHIP MANAGEMENT
Paper-M.CoE-102

Time : Three Hours] [Max. Marks : 80

Note :-(l) Atternpt FM questions.

(2) All questions ca y equal marks.

(a) Diffelentiate between services and goods marketing

with suitable examples. t6
OR

(b) What are the sources ofdesied and adequate xwices

expectalions ? 16

(a) what do you mean by rnarket targeting ? Explain its

procedure and tools. 16

OR

O) Define service rnarketing mix. Bxplain the elem€nts

ofmarketing mix fot services. 16

(a) Focus on the emerging trends in medicare seryices

in the Indial perspective. 16

OR

(b) ExplaiD the significance ofbarking services in Indian

Economy. 16

4

2

5

3
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34 (a) What is Relationship Marketing ? Explain its nature

and scope. 16

OR

O) What do you mean by Relational Exchanges ? Discuss

their tlTes. 16

(a) What is Customer Selection ? Explain the factors

affecting customer selection. 16

OR

@) What is Relationship Strategy ? What are its
determinants ? 16

(3{) lrRTrd-m ffic fuqr r<qftr dr rrq Hcr

{qdFI{ Ff,TgI ZTFI, 16

ftqr

CE qr.drd-d qffi( qfHlur tqii !-rc!' Tqr.
6{T. 16

(3r) {s!-ri{s Eq'rn E!r} Frc ? ftA F{6c qrFr

qfr Tqsa qc 16

ffi?r

(E) R.itllaqs s[ {-[qrflcrq1 qrltrns 6rq i[{s}q
ffi ? iqtqr y+nt* qqi +n 16

(q) Trafi tir{s qqt orq ? flaqiiqT Fr{*{{ vr{lE
qrdurt qzF tgrc F(t 16

ffisr

Cs) lic'flrtrfi Eacqrr r6ori F,rc ? icrdT ftqftd
rrqt qa+ ffi ? 16

(H rrar)
(fir :-(l) fq vrq Ed +lliq r

(2) Ffr crn i d+ qqn ilr
(q) +sr 3lf{ aq (Service and Goods) + trq!'rr }

+q etm ? qlsr6{oT rqc. +1Rc L 16

ffiifi
1e1 EFdd o1-( cR,.$ t-crSi +t s*fr + +d

+1a-+tr t I ? t6

45

5

I

(c-<r& qtaq)
(*tt:-(t) ffifr qrq sgr +ssT.

(2) F4 g?Till (qr{ Xur qrtsd

(O t4r qrFr 4q ffim FCr +rq
€lsz 6TI

g<r6(IRt6

t6

ffiqr

Cs) EE6d qrfrr gtwr +4rqr qqfrii Fid RmqA(. rc
2. (q) d#d ffi qrqn snqvnfr F'rq rFof q ffi ?

iffiff eBqr 3nft vrqi rcq 6tr 16

Gisr

tq +qr Rcqn fra-ff qrqr or, t-sr Bcurt frrrqT
q.Fifr (qs. 6( 16

LIBS-50089 2 (Contd.) 3uBS 50089 (Cond.)



a (a) r<rfiam an +r
sEnfirar <m i.
+1&i r

qd ca Eiq-{rc crorrt r -
drtr sq.iffr (gdr rvsz

l6

sq{r

(q) Sfr Er a ? Sfr +1 Eiqilrc \q ,rtr{ Hq
+ltqq r 16

lFT
qirr Er Md' s 6r"r \q, lrerftra sm ssc
+1Rt r qiq + k6til + sFnrs q mEI| l5
fl{rrel #rt EFkr ?!F gli *qh m,ra q*
d c+z dfri dqr E{ afl ad o qr Ssu
t ? rsf dftq l 16

r.lT

"ffi +r ft+r' (Law of Supply) i-<T-6{ur G
ffin +1 rarqm t ese +tBi r 16

rrqf}+n fi {Fq i{qkur, iqrfra sff F6r[dr
fr rqse +lfui r t6

mrir
sRrqlh-{r flr e ? q+rfufirrgff

sMFiaT + t& 6irm; +r Afirrfr{ (gf,{ fcrc
+tBt r 16

Fw lHtcks; i zq-+{flc rfi fuai( +1 lsf
+1&tr 16

AQ-l274A

'M.CoE. SemGster-I Exami!atior
MANAGERIAL ECONOMICS

Paper-- 101

Time : Three Hoursl [Maximum Ma*s : gO

Note :- (1) Solve all FIVE questions.

(2) All questioN carry equal marks.
(3) Draw neat diagran wherever necessary.

l. (A)'Marug;rialEconomicsisdisciplineutrichdealswilh

the application of Eqonomic theory to business
managernent"-Discuss. 1 6

OR
@) Explain the role ard rcsponsibilities of Vlanageria.l

Ecouomist in Business. 16

(A) State the meaning of the Indifference Curve and iA
cbarwteristics. Discuss coosumer equilikium tbrough
the Indifference Curve. 16

OR

@) Explain the law ofDemad witl exanpleard diagrarn
State the exceptions of Law ofDemaud. 16

(A) Explain the Average cost curve and Marginal cosl
curve in long nn. What are the rclationship b€tweetr
these two ? Discuss. 16

OR

(s)

3. (q)

(s)

+. (q)

(q)

s (q)

3
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4

@) Explain the "Law of Supply" with the help ofan
example aad diagram. 16

(A) Explain the price detsrmination in oligopoly with the

help ofa diagram. 16

OR
(B) Wlat is mearf by monopolistic comptition ? Explain

the equilibrium ofrhe firm in the long run under
monopolistic competition. . 16

(A) Discuss the theory ofBusiness cycles ofHicks. l6
OR

@) What is inflation ? Explain the characteristics and
typ€s ofinflation. 16

(:ra& rw<)
{T{r:- O) rd cr{ff e5{ +ssr.

(2) F{ vr+i{r wrr gur qrtd.

(3) qIEc{6 il g<ra qrt-rcT F'r6r.

1. (3r) "qqerr+q rfl,drns A enst yrREr qre, .-crd
qfifs fuat'ffsr iffiflq q{srrflEftdr sqftr
ier s]fr" Eqf Ffl 16

fr'{I
(e) tq-ass56 arqe{rr+tc qdsTrqfli+ Tfusr e[rFT

qi i[<rql {{6r f{T 16

2. (q) -irrfl arrqr qd qIB .crff AM qrrn

T-WiT srFrqr qrari gc+ffr rdd-{ HF. F{r

RiEr 
16

(q) qrrr"n-sr fuaia s<rrrq s ifirEfi-drt r$z 6fl
qrrrff Ffiqri rrrstE {irn 16

UBS-50088 2 Conrd.

:. (u) Rffi+ Ftrst !-0-qq qfi 3TrFT ffid qfuqq

!?i FFc ftT ar ffi crrqd 6rq ndq qE ?

<q6z f(T. 16

frqr
F) 'grrrcrq ftqq" E{rflur a urgftra rwe +r.

l6
+. (q) f€qTfh+rtrd ffiTd ftufutT F+ at e 3ngdiqr

qffif r.qsz F(I. 16

frisT

(s) \'+rfh+rtgft Fuf q"O 6rc ? q+rfh+rrgqr
qdd tdii ftffi1 rtgr+ rqaa +tr. 16

5. (q) F{s @icks) wr qrcR dfi kaidrd( Tsi F{T

l6
Risr

(q) ftmfr Eurn flc ? ffifr+ ?Elld q Fnrt eE
Ffl, 16

(ftcfr vtar)
(T{r :- (1) s'fi ciq 9r{ co dfuq r

(2) {fr sr+ i sqn st6 ilr
(3) qri qrsrr+ fr cai v+rs ffia t r

l. (q) "rsa-+c qdsnrx qd M srREr B, Frr+ oidrfd

qrf*fi Rrat-d iFr qrqrq reE{ * ft} sc+rr
frqr qrm ?r" !d dfrq I 16

SIqi

(s) "tr{flq } e.i[+tc qffi +1 ,tfr-€r qq <rfu€
an qqfa frfr+ r 16

5
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(4)

2. (q)

(o

3. (q)

CO

4. (q)

(o

5. (q)

cd)

3Eicr{fi dclfi (N.PA.) t qrc qI (€a g ?

<ci qq'{ + rr4qFT q{ 3[$cre6 Ttqft frqtR-d

fiffi eBcr * rc". dfti r 16

qrcfrq €z +6 + Frql + qs'e +1frq r TEr
+ Ftrrm } sr+1 {k6r esa dfqq r 16

frqitT

A-fiq rrfrur {-+ t 3ttc eqr s.m+ i t fifrlr
"d-{ + 6r{ qd TrffsT n-6 +1 3ntr-6 E-{rs t
qfufir esa dfilr 16

ffqr i qrqrq a-.i d es dBt r qfcr<

M t frqr +1 qrqqrtdr \'qq r6e fr ese
dBt r 16

ffIFIt
'ffqr srflks qd qqqrft-d grrr rcn rri
6r qrtl{ a r' esa dftq r t6
cqtl{ +qI +t ffiEs{r rqE dBq r fiqr qRF

fr Efu + <cfi rr.q qi enq lasr frBt r

l6
qqET

Efid frql qri qr ? tB s.cl({ \r4 ft6rff q{
gri y.Tra +1 q-qf +lfrn r 16

fiqr f{qq-{ q4 Eflq srlhrlr (IRDA) + s?sq

cq 6rff + ltqE d&c r 16
qT4[

i{rrfrq qHtr+ qrcq drrr fr}E r6rrs-d (tctcD
i gt{c il{r 6r{ ss6 alffi I 16

AO-1277 L

M.Com, (Semester-I) Exrminatiotr
BANKING AND INSURANCE SERVICES

Prper-104

Time r Three Hoursl [Maximum Marks : 80

Note :- (l) Attempt ALL questions

(2) All questions carry equal marks

l. (a) Explain the functions and current trends in giving

loan ofcommercial bar:ks. 16

OR
(b) What do you mean by N.PA. ? Explain the provisions

and process to determine the N.PA. 16

2. (a) State the fiDctions of State Bar* of India. Explain
their role in the rural development of India. l6

OR
(b) What is a Regional Rual Bank ? State its functions

and its role in rural development. 16

3. (a) Explain the general principles oflnsumnce. Dscuss

the need and importance of Insurance i[ present

scenario. 16

OR

@) "Insurance is a social and busingss security tool."

Explain. 16

UBS-5o@I I (Conrd.)4LBS 5009t 1550



4. (a)

(b)

s. (a)

(b)

Explain the concept of Livestock Insurance. State

its inportance and benelits to policy holders. 16

OR

What is Crop Insurancp ? Discuss its effects on

agriculture production and development. 16

State the objectives and functions of Insurance

Regulatory and Developmenl Authority (IRDA).
t6

OR

Explain the objectives and furctions oflndustrial
Credit and Investment Corporation of India (lClC!

l6

cd)

3. (3r)

C9

4. (3r)

cd)

s. (9

cq)

Hc fiffq i+ qqi +q ? q di,-fi q{ ese6F{rrfrq*T***Iu
liffi srqrq rc? saa +-<l sqte+68 fuqr+
3r?nnFsdl q qrcsrfi {sf s{r 16

fr'{r
'i{qr e sT<tfrF q qr+fifur gr*+ vrua vB'
TqEC F(t 16

vgm f+r+rfr F+tr+r rvtr F{r ftA F{qr
qR+jqT EE&i qA€ e Erqt l4s]" 6-{. 16

Eisr

F-6 ldqr E"ri 6rq ? et G-iqrfi q E-fismr
srqr qliptrqr* qqf +-n t6

Eqr FqF{ 4 B'firs qpltryttrrrs 0RDA) sRE}
e FT4 frs.a F(r 16

frisr
lrtrfrq qldfirs E-a s {il4"Is {6rld gcrcD
s??I s 61d (qoc 6rT t6

fra& ma+)
({rT :-(1) r{ sE{ rilsEr.

(2) F4 er-{in qqn 5ut qrtd'

l. (30 qrcrt d.+ff 4d s Ed M rcfdd rrfr
(Trend) gls. 61T 16

I*-{r

(s) {tiqras' {c-fr (N.PA.) crcqr s qqrH +rq

3r'f+q drd ? r$vre+ drd-qT fffi-d rcdff
3fiFr 3rtiqr({ ffi t4uR(, rtunff vftqr etz
4Tr 16

2. (q) r{r.ffq €z dit +rd srn. Tfu tffirsrd ffi
gh-or srr rtr 16

ffiEr

uBS-50091 2 (Contd.)

(H wqc )

{q-{r :-(1) q{t Tr{ Ef, +Fd I

(2) F+fi sril * ci+ wrt t r

1o1 tannt qftds + 6rd Csr( z"r ?  fr r{frcfi
(Trends) rsre dfrq 16

gililT

3uBs 5009l (Contd.)
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3 What is C6t AccoEtrtirE ? Exphin in daail uhy the oeed

ofcost accoufing arisE. 15

OR

From thr following information PrEpBre a coli sldGment

showing maximum possibl€ break up of cost and total

profit :

Rr.

Sales 30,00,000

Cost of Good's sold 24,80,000

AdministstionExpenses 1,80,000

&lling Expenscs 40,000

OPeuing Clodng

R!. R6.

Stock of Ra*r nerial 3J0,m0 4,00,000

Work-inProgress 3,20,000 4,t0,000

FinishodGoorts 410,000 3,40,000

Dhcct wages wste 30 7o of Ptime cost.

Raw material consumed wete 50 oZ of Prime Cost

Direqt exp€ns€s we.e 20 % of Prime Cost.

Work overhead were 20 % of Prime Cqst. 16

uE 5oogo 8 1coma1

AQ-l276L

M.CoE. (SeEe!tcr-I) Exaninetior
ADVANCED FINANCIAL & COST ACCOIiNTING

FePcr-103

Tif,re : Thrcc Hoursl [Full Marks : 80

Not. :-(l) All questions arE compulsory

(2) All questions carry equal marks.

(3) Give workirg notes wtrercver necessary.

1. ArAccouDtant finds the difference in the Trial Balanc€

amoulrting to Rs. 500 and he puts it in the suspense

accoullt.

Latgr on he detects the following errors :-

O Purchased goods ftom Rambhar,r Rs. 75,000 but

cntered into sales book.

(ii) Received one bill for Rs 1,25,000 from Devidas but

recorded in Bilts payable book.

(i PEpard rer( ofRs. 17,500 was oErittEd to be brought

folward.

(iv) Purchases retum ofRs. t0,000 has been wrongly

entered in the puchas€ book.

uBs-s00m (Contd.)



(v) Bills payables ofRs. 1,25,000 given to Gopikisan

against acceptance have been debited to Radhakisan's

Account.

(vi) A bill received from Jayaka Motors for repairs

to car of Rs. 12,500 and rhe cosr of new car of

Rs. 2,25,000 were entered in the purchases book

as Rs. 2,30,000.

(vii) Old frrmitue sold for Rs. 27,000 had been entercd

as Rs. 22,500 in sales account.

Give rectiryiry joulllal enties widr full narration and

prepare Suspense Account. 16

oR-
The Balance Sheet as on 3 I '' March 20 1 5 ofA company

giver below. The Net profit after deducting all working

expenses and proaisions for depreciation and tanation of

last five years 8.re :

Year Rs.

2010-2011 70,000

20]L-2012 75,000

2012-2013 80,000

2013-2014 85,000

2014-2015 90,000

2uBs 50090 (Contd ) uBs-500m (Contd.)

Liabilities Rs Assets Rs.

Dividend

equialisation fund

Profit and Loss

Depreciation

Provision : Land

and Building

Deb€ntulcs

Sundry Creditors

2,50,000

1,27,500

2,50,000

5,00,000

25,00,000

7,50,000

Stock

Sundry Debtors

Cash ar Bank

Cash in hand

15,00,000

6,25,000

3.t2,500

2,5m

1,00,02,500 I r,oo,ou,sm

The Company is absorbed by Acqua Co. Ltd. on the

above date. The consideration for the absorption is :

discharge of the debentures at a cash premium of
5 %, taking over the kade liability (creditors), and a

paymelt of Rs. 70 cash and one share of Rs. 50 in

Acqua Co. Ltd. at the market value ofRs. 80 per share

in excharge of otre sha.e in Eureka Ltd. The cost of
liquidation Rs. 12,500 is to b€ met by the purchasing

company. Pass Joumal entries in the books of the

mmpanies. 16

1



(4) Provide for depliciation on

(a) Land and Building @ 2 %

(b) Plant ard Machinery @ 5 %

(c) Fumiture @ l0 %
(5) Provision for taxation is to be increased upto

Rs. 50,000

(6) Managers Commission is to be paid @ 5 yo on Nel

profit b€fore providing for taxatior

{7) DiEctors reclEmend the appropriation of profit by

taisferring Rs. 20,000 o general resewe and declare

dividend on equity shate @ l0Y"
Prepare the Final AccouDt offie company for the

year ending 3l" March 2015 and the Balance sheet as

on that date. 16

OR

Thc following is the balanca she€t of Eureka Ltd. as on

3l{ March 2015 :

B.l.!ce Shect

(As oD 3 t' March 2015)

capitrl (50,000

sh&es of Rs. 100

.ach)

R.slrve Fund

30,00,000

17,50,000

62500

,,50,000

Land and Building

Plart and Machinaty

Fumtur€ and fitti

R!R! AsseasLirbilitie!

UB5-50090

62

6

Work in progress

(Contd.) UBS sOGO (Contd.)

Brhtrce Sheel

(As on 31"' Mrrch 2015)

Rs

Building and machinery were valued ar Rs 3,10,000 and

Rs. 85,000 respectively on 3l'March 20l5 The fair

return rate in iDdustry in which the company is engaged

may be taken at 87o p.a. Find out value of share after

taking into consideration the value ofgoodwill is based

on 3 yeat's purchase ofthe annual super profits. 16

2. Hindustan Co. Ltd has an Authorised capital of

Rs. 50,00,000 divided itrto 4,00,000 equity shares of

Rs. 10 each and 10,000. 9 7o preference share of

Rs. 100 each.

3

Liebilitics Rs. Assets

Share Capital 40,000

shares of Rs. l0 each

Profu and Loss A/C

Creditors

Provisiol for tax

Proposed Dividend

4,00,000

90,000

60,000

30,000

70,000

Buildings

Machinery

Debtors

Stock

Cash

3,00,000

80,000

2,00,000

50,000

20,000

6,50,000 6,50,000



Following is urc Trid BataDc€ ofthe Compary as

on 31d March 2015.

tuwill 5,00,m0 Sh.r! Crpitrl 3,00,000

.quity shrEs of Rs.

l0 each 30,m,m0

trnd lnd

Building

Plant and

Machincry

Fumiture

lnvcsftEnt I %

Dcvelopmcnt

bonds

6% Govt Sccuritics

Facc vnlue

Rs.225,000

Opening Stock

u4ntt4

Purchrics

Salcs Rauln

Wag€s Pltd

5000, 970 prcferlncc

t9,m,(tr0 sharc of Rs. 100 c.ch

C€aeral Rcscrve

Sharc Prcmium

Crpitsl R.dcmption

Dcvclopmcnt Rasdva

Proft a [,oss A/C

Salcs

Purcha3€ R.turn

l0% Dcbentures

Sundry Cnditors

Rcacrvc for doubrful

Dcbts

Provision for

Taxrrior

6,00,000

525,000

Z(D,00z),m,mo

90,000

9,10,0q)

211,fr

410,m0

7,00,000

25,0m

20,m,m0

l5,m
4,mp00

r,80,000

rJs,o@

I I J0,0m

. 25,m0

eqm

7,5m

32N

4

Rr. nr

LJBS-5@S (Cortd.) t Bs-50090 (cdd.)

Rr. Rr.

Carrilgc inward

Salrdcs

Rent, R tcs and

Trxca

Prtlininty Exp.

Primirg ard

Strrioncry

Postrtc

Audir fccs

Dirlcto$ fe€s

Intfilsl on

Dcbcnturcs plid

up to 30/9/2014

Sm&y Dcbrors

Bark gslance

9,@

2,10,@0

l5,m
40,m

25,0@

30,m

25,00

r40m

IE000

20,000

zm,m
405,m

lnea-sm 78,94J00

Adjustrents:-

( I ) Closing sek on 3 I , March 20 L5 u/as Rs. 3,50,000.

(2) Write ofprcliminary expenses by 20 %

(3) hovi& Reserve fcn Doubdd debts oa Sundrv dchors

@ sv.

5



STEI ETE{

Y
e[r( qc gPd F"-fr) 0.80 \. 0.60 r.

arrtr+ rgeft< urgq l,oo,ooo 75,ooo

Bffi ffr+

qr6{rqr qft-4tFR srftf+ S "/" ({rl qrq srfir{raql-i

fle.

4ra;r E( dRnfrl sTIFt 20 iqffi qrqt. 16

5. lFt +l6+r<rfi-e srqrcl $-l frm r'<, src, +s
rqr vrt. ur Rr.fr Estql ({{ (qrfi-d rql+ kdl
sre ,

. ftqr q'm Gm [ frsT +s

d. !. !.

ffic,n 1,00,000 50,000 25,000

rq{ t,so,ooo 76,730 74,850

qTrerH qs 25,000 25,000 37,500

IIFITq qrq 4Vo l0% lO o/o

Etsr \'tr qi ehq qF{ 50,000 {Fc \. 2,00,000.

\r{q Ali eq loo a rR loo \16-6r cclq 3flFr

frur srq q +s ? &q qTF+ 250 E. s' loo t.

LIBS-50090 24 (Contd.)

4. From the dara given below calculate the machine hour

rate for rhe moflth of January 2015 :-

PerYear

' 
Rs.

(l) Rent ofthe department ( Space occupi€d

by the machine is l/5'h of the

departmerO . 15,600

(2) Light (nurber of men in the deparEnent

12, two men elgaged on this machine) 7,760

(3) lnsurance Premium (for one machine) 720

(4) Conon waste, oil erc. 1,200

(5) Salary of foremer ( l/46 of the forernan's

time is consumed by this machine and

the remainder equally by the other

machioes) 1,20,000

(6) The costofEachine 1,84,000

(7) Estimated Scrap Value 4,000

(8) The machine works for lt00 hours per airnum.

9UBS-50090 (Contd)



(9) The machine witl incur expenditue of lis. 22,500 in

respect of repairs and maintenance for the whole
life.

(10) The machine consumes 5 units ofpower per hour at

the cost of six Rs. per unit.

(l l) The wokiry life ofthe machin€ will be 18000 hour.
l6

OR

From 0rc following data rElati[g to two diff€re v€hicles

'e and ts', cornple t\e op€rdirE cost per n[nirE kilomder :

Vehicle Vehicle

Ki.lometer Run (Annual) I 5000 kms 6000 kms

Rs. Rs

Cost ofvehicle 2,50,000 1,50,000

Road Liccnce fees Annual 7,500 7,500

Insuanc€ (tunual) 7,000 4,000

Garage Rent (Annual) 6,000 5,000

Supervision qnd Salary

(Anrrusl) 12,000 12,000

Driver's wages (per hour) 30 30

Cost of fuel (per litse) 60 60

Kilom€ters Run (Per litre) 20 kms 15 kms

(10){, qsT drqldl 5 ghz Yrffiqr 3cfr,r +G s ?t
6 E. Efr ghE qli.

(ll)qfl  FrdRrfi sIrgq 18000 aI( qrt. 16

fr-{r

srE{ '3{' eflFr !' qrqT €sck erfr ltileqi nqRIIIrqr
qrqlt rff E+fi--t qFaqtfi qfodqq FT(T <K{4r :-

iITFT SNr{

B
<m Emfi-r< 6fit4 t5ood farff. 6000 flfr.

{. t.
qrdTri cRscq {Fq 2,50,000 I ,50,000

c-c4Hr {ffi (sfiF6) 'l,5oo 7,500

3TFn',q GrFfO 7,000 4,000

ft-q qr3 FrtrO 6,000 5,ooo

ffitrq :rft ?-t-+

csrFto 12,000 12,000

qrfsr* Te gPd-dr() 30 30

iu-{ qc FR k-9 60 60

E;frfi-rr qmr ofr fud-O 20 Gr* 15 frff
(6ffi qtft Fq"il-dr{

gft frffi ) 1.65 t. 2.oo !.
UBFsflDo ,3 (Codd.)uBs-sflm t0 (Contd.)



4, qrfl-d Rilqr qrF#{6-{ qrffi 2ol5 Er qGqm-erar

ri7 e <( 616r

eft s{

r.

(t) EqEn+ qr} ( ar q"ri l/5

qrm qnc+fr ilB.) t 5,600

(2) rflrr (E ilrnd l2.{ffi qq{

2 q-d qrri{ 6rd Eadlf,) 7,760

(3) Fqr rqfr $+r {zrfl 72o

(+l rrXs *q ild sqrfr t,2oo

(5) ffi i-d-{ (qt(E{ ql +}qr

l/4 A EBrr ii q qr+rqr drrd-r

{r.ql YqIUnd {a' iF) 1,20,000

(6) riTri dFrd gil l,84,OoO

(7) r1qrF{d eq gil 4,ooo

(8) i T, snq-d t 8oo ars rrri +'rir

(9) 56S 4 q-<qtrqw+r anrer Wf grgsql6 22569 q

q {.rr+r qd rtd-a.

t 8F50090 (Contd.) (Cootd.)

5

Vehicle Vehicle

'A' ,B'

Repair and rDaintenarce

(per k.m.) 1.65 Rs. 2.00 Rs.

Tye Allocation (per k.m) 0.80 Rs. 0.60 Rs.

EstimatEd life ofvehicles 1,00,000 75,000

kns krs

IntErest at 5 9/o [Er aDnum on the c.st ofvehicle is to be

charged.

The vehicles run 20 ktrs for hour on an average. 16

The production ofa factory psses thmugh three processes

'X', 'Y' and 'Z'. Below are given the expenses of these

th.rce processes :

Proccss X Procers Y Procesr Z

Rs,

Malqial 1,00,000

Wages 1,50,000

Irdirect expenses 25,000

Nonnal wastage 4 o/,

Ltss-sm9o I r

Ri.

50,000

76,730

25,000

t0 yo

Rs.

25,000

74,8s0

3?,500

to vo



Units i[troduced in process 'X' 50,000 of value

Rs.2,00,000.

The wastage ofprocess'X is sold @ Rs. 100 per

100 unit and that of Eocess'Y'and Z' @ Rs. 250 and

Rs. 100 per t00 units respectively. The finished goods of

prccess 'Z' is firlly tr-ansfered to Fidshed Goods Stock

Accoutrt

The output of Focess 'X' 47520 units of process

'Y' 53460 units ald of process 'Z' 47960 u[its was

recordpd. Showing the various types ofuastages, prepare

Process Acaounts. 16

OR

A Company for Building Constuction having an aulhorised

capital ofRs. 10,00,000 divided inlo 10,000 Equiry sharE

of Rs. 100 each. They commenced operations on

l'April 2014 and during the year were engaged in a

contract, contact plice ofwhich was Rs. 40,00,000.

3. ckqq frsifi-{ rE-G Frq ? qR-qq +qi* qrasrFdr

Fr fiqfE Ail t frqn vd e.e otr rc

. friqT

<+rd-d qrEfi-qr qrflt gfi qR-ccq Faatq aqn qr.
i qrda qr< .rt'.qqr+ qrq q dpr Hq rtd ;

ffi
ft-fttd rrar+ cfuqc 1rc

9IITRFT qIT

Mqc

Fqr mgfi-sr qrm{rdr

frqrqn F4

II{ qlcl

t
30,00,000

24,E0,000

1,80,000

40,000

erifus, dfrc

3,20,000 4,00,000

3,20,000 4,E0,000

4,20,000 3,40,000

The Trial Balance extracted from their books on

3l'r March 2015 stood as follows :

Ya ,rrr qsrt cR-qrqr 30 % qE.

r"+ mgfr vqr{ qfrqqrqr 50 o/o qE.

sFa[ qq gsr{ cR-qqrqr ZO X qB

lFRqrTr 3qR-qq cqFI qftqqqr 20 % r[l? l6

uBs-500r0 t2 (Contd) LJBS-50090 2t (Contd)



?q-fl E {q-fr !

rrcft{ hft
dtqisr qqftsr

fr*
dTlTlTJq

+qr

sffi HW
hft
qfflI (aq{ :

{fr q 
'ra{

6-d-R

EEq tr++]

625,000

250,000

t2'15&

2,50,000

5.m.000

25,00,000

750,000

frqrqtT sd

q]tRII6T

Ehq zlnl
++d +q

emq rte

7,50,000

l5,m,m0

625,000

3,t2,500

2J00

r.oo.oz.sml r,00.(D,500

Prrticulan Rr Rs

Share capital Rs. t0 paid up

Sundry Crcditors

Land and Building at cost

Cash at Bank

Matqials

Plant

Wages

Exp€nses

Cash received being 80 7o of
the work certified

3,40,000

90,000

8,00,000

1,50,000

10,50,000

50,000

&00,000

80,000

16,00,000

24,80,000 24,80,000

T&d dr.+dr ffi+ qBftq-{ +€r 6qfla {ri
efrqr Eut{ +-Std qr+iTr s x rqr$-c-{ tq +F{
riqi, qr+l * tq-dr Rrdrtq s {t6r RFr.}qr
rrt+ qrrnara 70 r +q E *H SO r ?' g6 3in

(rTm) 80 T ffi {qrqr qr+qri 6d. {€rq-{rqr

<Ed tz,soo t. fr'flr ffi+q F6{ q,<r<crqr sr?. +€
qir+qr {tr6rd ffrffiff ar. t6

Of the plant and materials charged to the contnrt,
plant cost fu. 20,000 and matelials costing Rs. 20,000

were deshoyed by an accident. On 3l'r March 2015,

Plant which costed Rs. 40,000 was retumed to store,

Value of the materials on sit€ was Rs. 40,000. The cost

of work coopleted but not certified was Rs. 20,000,

Charge deFeciation otr plart @ l0 % and cary to plofit
and loss A"/C two-thirds ofthe Eofrr. Prepare Contact
Account for the year atrd Balance Sheet orr 3 I " March

2015. 16

l3uBs 5m90 20 (Contd.) uBs-sdm (Cond.)



(r<r& rrar)

{{rI:-(l) r4 sr{ 3rM qrld

€) E4 esrirr vqn goT qttd

(3) ifirss{ro ho;r!ft ftnE fu6r.

\'+r +qrqrerm tftq qli+oi<r soo <. qr Frfi qr6Er

rrml acr* ds frirkd rsrcqrff <rqfrEcrf, srfr
ilnf,fi dA <cr$-d R.rq fiqil ,

(, rrcqrs Fqr 75,ooo r. qr qmrff Gtfr ffi
rrg er$ +i ffi 1tr+l( +<oqn ffi.

(iD ?E-(rs ;F-ql 1,25,000 {. i en fara Frdril qrE

€i{ il( fu frr+ 1<-+n q-<oqrd qldi

(iii) qffq fr+a qr} tz,soot. er $ oruru+r+ ftrce+r
+il.

(iv) (+fi crn fr lo,oo0 d. * fr< ffi ru
Ttr+-il hBuq'n srd

(v) rilfrfrffi t R++rrfti l,2s,ooo \. i P4E{

qqfhm qr <qrcqn lB qroqra 3ni

(O q{fir ff E-ql l2,5oo r. +n gtd vrFr

2,25,000 {. mn st++ vm R-a etft Xm-+m

2,30,000 r tuEql t&.

(4) sqw ff& (((E :

(q) gft fiBr Eqrr( 4r 2 % ((ri

Cq dtr{ q rieF( 5 % (tr+

Cfl sFFd( T{ lo % <ri
6y roare TrqE \. 5o,ooo cdn s'6{r+cr* er}.

(6) F{rqr& (C(( F.ocT[ftqT irFIEr qq{qrrrra

6frfl" 5 % ((ri EIEqrn qE

(D (qril6i{} lEcrgl 20,000 t. IT*s F{qffiI

Tllr{ifrqrfr g-{-{r +A-flFI qrqrq irFn-{(

lo % <{ri dlqi{n+ q}qun +fr

3r qrd 2015 Itff {q'nqr qqt+ dRrq qlf nqR

rar rqr k+qr{r m&is (crt 6'(r ' 16

frEr

qrfi-d dr&i< glor frFdls sI 3l cr+ 20t5 +ffsr

$8,
Erlic

(31 qr{ 2015 +*qr)

qig{fl 50,000

qm sfr ,irtr

t00 t

rIfr s Eqra(

aq,
30,m.000

3?,50,0m

62fi

l9

rE {c-Stmr

r,tss-s0090 14 (contd) LrBS-50090

s fufr€
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I. E

oqr{ s

€rrrt
Nq
atieu go
(qr.r6 {-6
r+tqtrt
qrq fr

:onnor q{<

FiiF{s uEr+

dfi ffrffid

30,000

25,0m

lzom

18,0m

20,m

400,0m

205,0m

7t,94,500 7E,94,500

Tqr+q-{T -
O) 3l cr+ 2ot5 +S ({{sr 6q !. 3,50,000.

(2) ykfus qca 20 % qclq{ F{r.

(3) EAq Esr+l {r 5% <<ri gBd rd h4-fr ilq(
61T.

(vii) {i qf+{( 2?,ooo {. dr ffi A E,fr qerqd
22,500 E. I sf{a.

T6iqT Sffi F{sqrqrfl-dr e"Arwnw fr-4+A
qr a ftctBo isr Fqrt fiT 16

fficT

q6r {-rrff} 3l cd 2or5 n fufik+or erfr Ri
fle. lrd E-d qqrcr Fft r <-rE* aftr +r +vm
+flri-daqr grF crs qshT W {sr ,-

q{t

2010-2011 70,000

20lL-2012 ?5,000

20t2-20r3 80,000

2013-2014 85.000

2ol4-20r5 90,000

Rcfrf€{Er

G st qr{ 2ols ffi i)

qFr rlisffi 40,000

r{rrr gim l0 \. ql 4,00,000 Eqrft 3,00,000

80,000

2,00,000

mrfrzr tqft 90,000 {"

s-{dl 60,000

n {qfrt(dr r

uBs 50090 IE (Contd.) uBs-50090 l5
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tq-dr n sqti t'
fi n-qE

frfud drqisr

30,000

70,000

qTFTqI6T

++'

50,000

20,000

6,50,000 6,50,000

:t qrd zots dr Eqr.d qrFr {i fi{6+ 3,10,000 r
qrFT 85,000 r. < ge+ifr-a fioqm qri eir+ fr
q+srq rG rsr iJfud sirFrTqT (r rfr Ed 8% qr?.

er&n ge qfudrqrq 3 sqftqr ctfi a-t 3rFFrerr

.ll.nn 5tq hfr-{d +.{T. t6

2. E=Rr{ 6 ftrff + qth{d qrs{A E. 50,oo,oo0 irqT

t 4,00,000 cq-ar qm v.iqfr d. l0 sr srFr lo,0oo

9 % TqffF+T-{ ,Tra yffi t too qr qd t+{r'rnft fi}
3l qrd 2ol5 tm + 6qE+ tt-q re-r qrd-d

cqri 3fl? ,

tqrff 5,m,000 qm rTiseH :3,oo,ooo

gqm *rm vtH
\. t0 qT

rooo, ev.lrFtrort

qrr 91ffi \
l00 gT

{ff qrftI

FqTf( rq00,000

({iz 3nFr ri7

30,00,000

600,000

sFfTr

gr<vp+ r "z

F-{Tq tA
ev. rc+rft

sfrTfr Grffl

ts 2,25,000)

Sr{ql I{q

l4D0t4

<qtfr

M ccd

r.{t R-fi

qllki qtEr{ qrT

+d-{

ql({s
F-{

virft+ qc

qkr<

{rfi-E Rff
qrrr E qrff

qrE-{f, T(d+s

frff
ft-{rfl frft
aqrdlzr qti

H
<qtff ma

rov" rttd
hhq q-{+1

gFrd 6d f{S

firqr& drg

90,000

9,10.000

2,t150

35,000

40,0m

1,75,0m

11,50,(m

25,m0

98,000

q0m

2,10,0m

52s,000

2,00,000

2,10,000

7,m,0m

25,000

20,00,000

15,0@

4,00,000

1,80,0m

15fi

32,m0

E r

t I

UB5-50@0

20,00,0d)

15 (Cond.) uBs-5fi80
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yfi loo qffir qr rqrE ffi iau *s w Ei a+n
qtfi, (rIR qrfr ({Fqrff Fefiri ftfr ?s.{!-qrd srmr

Fssr !N ? Eflrqi 47520 q++. frm aro i
3err{ 53460 qrfi e frsT +s i T.crfi 47960 cr6
fficqr +n

Efrq rsrc+ eq <st-{r Em id rqrc +tr.

l6

friqr

Eqlcd qTq$rq Fflrqr qFr cq-s-drt qfht-d lTi6{d

10,00,000 \ 3rqr t 10,000 s{dr rTFrra, lfrqrq lo0 t.
yqrtf fuqrrrnn fl}. R I qBd 2014 dr iqifl Erqrfrr
grqrd +ff Ft t ssfEr t-flrq-{ Frf sr0-d q't(
AEqr+ Rq 4o,oo,ooo E frt.

31 qr{ 2ot5 tff iqt?r ataq<1q€Tr crffd
yqri +t-q qlt ,

qrrr qi6ffi

EEq r{+1
80 <ir

1fr < erca vft-+l

5*"qA
dfrfid tq
s,,q*

8,00,000

80,000

E-dtur t \

uBs-50090 b

3,40,000

90,000

8,00,000

(Contd.)



I

f{-<vT E r

oqa

qt
crd

ttq st< s{rFR qrqtql

80%

1,50,000

10,50,000

50,000

16,00,000

24,80,000 24,80,000

ffi{Er E r
qrqfi

qtri

Ff$
.{q

sqrFTd Fd sT 80 % r<

vrq frqr

8,00,000

1,50,000

10,50,000

50,000

16,00,000

24,t0,000 24,80,000

t-flrr{ 3n6tt er {ria s figfi q-fr 20,000 {.

frmfta rFia wFr 20,000 t. fr;qfi * sEff 3lcqrdrd

nq Hrfr. 31 qrd zots m qr iiiierS frEd 40,000 {.

afi i {ircum-6rer q<d fra }<rctld EttHE {lTfA
g@ 40,000 !. at Wf +a-iqr c<g ccrFm I +ilicr

flqri T€ t 2o,ooo aA fralrr lo % <rri qfrRr

3rmm qrFr rqrdrr t+rflrdr arqrqr ia Efiidsr

{fiq exmi(t-d +{ qqt{r }+r tqr <qn qrr s

3l cd 2ot5 lr'fri R'rfrF++tnr mn +n. 16

*i qr qrd frc .rq Rte s srqfr i 2o,ooo r.

d dflrd sT wiz aqr 20.000 t. arrm fr qrqff

S+-fl i rs. i ,r{ r :t qr{ zots d 4o,0oo t. fr
drrrd Er Riz crlt i frzrqr r +dtrre qt qrqfi

4o,ooo ( {Fc fr {i r xuf frm mr rtg uwFn
6'If 20,000 \. 6I fi r Ria Tt l0 % qrra !T drnfl
qk erq-arft eri d anr fi 2/3 A qr{+ l sd {r
*6T qmr dqr rt qd zots +r Rqfrk+t'r qlnt t

t6

uBs-500m x (Contd.) uBs-5@o 39 1550



\'tr h& 6r {q loo\. efr loo EdrflT qi Efu slq

{ Ef} +s { ro +-qqr 250\. \"i loo(. vft too

s{r6m + E{rE t i-+ r ic Ef} * Tf frFfu qre

hFf< qn oft t r<fua ftqr ryrr

RfE tm or E crfi 47250 {+'rfli frfu ad +r

53460 {+Eqr s Eh fis fl 47960 EfiEqi T6r I

frfus r+n + ed B) <nfr g< Efh & t+n
qi1&t r 16

qTfl

q++ Frqfor fii sr& cF +T fi i crt lo,oo,ooo {.

m Tfr e + fr to,ooo vrn dst t lood. yfil qsr

+ Eq'< t ffir ?r Fr+ I 1 ql-m 2ol4 +
sr+qR qirq fucr 3[k s6f i t6r frc] fr h
4o,oo,ooo\..1:c 6r qrr sl-+1 tet5wd + rtqrt
31 qr+ 2015 sn ffiHI {* tr-trlsn "fr ,

(H rmr)
(fir :-(1) qlft sr-{ qFrad t r

(2) sq 9r+ * dq rqra il r

(3) qrqsffi tqr+ qt +rd ft:.q"t frfrc t

c6 i-qrlls i rere ctft <rrq 500 {. 6I qna vtq-l

firfr ssl e+< <srt t srd teqr r dra i s{+
FF-fifrqa sgFatt +l r+}q P{6rdT ,

rrq'Trs + 75,000 {. 6r qrfl €-frfl nfr-{ sFff
siaBc krq gw+ t +1 .r{

6 ?F+<re t t,25,ooot {r \16 ftci vra gw Frt
tu hre 5w+ t <srfur ,rer r

6i1 arff+ ftn .rt ffrut + tz,soo t. +] crt' dnr

{m {+t

(,9 +q rcqrq 10,000d + \'fi E{ 41 Trfr fr nq
gw+ t ftr< frot m t

6; orff @ t grmn t tffftsi fr ftt rl\
+c hsa 1,25,000 {. nqrfrq-{ i eft * srd Rc
rrt r

1vr) or+r dzd t 12,500 {. 66 15ffi 621

? ?s mo 6 6r{ ct& e kif +} rq cws q

,1ooon6 * ftrs tri rrcr

o

ifsr tff { 80 rq-d

Eftu tr-cr(

1ft qaa qra6 qq

t-rd +{ t

8,00,000

80,000

3,40,000

90,000

E rfuflq

uBS 50090 3t (contd.) uBs-50090 n (Cpntd.)



(vii) grTi r+d{ fr 2?,000 a. t i-qFrfi Fi+ ftfiq
qrt t 22,500 <. w fr<qrc'r rrqr I

$ ftsoIl 6ootnote; ii gC gE fg r{i eFdF-qt

dftq qa r{ifi (ardr s{Eq I t6

srqT

\r+ 6Eqi1 ft-sfir 3l qr{ 2015 RqffE-+tvr +i
Rn ,rqr ? r qrff qq crs i ftq srqtrr+ qt{ Fl
+iei i srs rrd 5 4d FT E-d FiT.T {fl r+n B ,-

iIr6T qrd:T

r

Brfrfrr( qkr{ gfr kfi) zo fr-ff 15 Erff

1sd <w ftivFan

gft Fffi.) 1.65 \. 2.oo \
all{ .qq (sft Erff) o.8o F 0.60 r.

sr6{ 6r q1qrifd +s-{ l,oo,ooo 75,ooo

R'ff G'fr
qr6{ d mrrfr q1 5 o7" ffif5 Et ft qlq drrd.f a I

$rsa-l sr6{ sfftia 2o ffi* q$f,r i r t6

s. \'s srr,ed +r r<crfi fi-{ Ef}+i qq(, sd d"{r +s
t qnr ?r *i e+ dr hqrc iqqfrtnte,

trtu r'm Efr qrc fq* +s

t.n,'E
qT{fr l,oo,ooo 5o,ooo 25,ooo

s9a{ei qs 25,000 25,000 37,500

qTlrrnr Hq 4% tlyo l0%
qffi t E'aTff rff E{rqcr 50,000 TFc 2,00,000 {.

UBS-500m I/ (Contd.)

cf
2010-201I

2011-2012

2012-20t3

20\3-20t4

2014-2015

E.

70,000

75,000

80,000

85,000

90,000

ffifr E-d<tr

(31 qr{ 2ot5 sr)

W r rqH !'

3,00,000

80,000

2,00,000

50,000

20.000

sisr,tff

40,000 {sr sfu{sr
10 r. +'r
qrgrq qr

iro<
rt i ftq craqH
+FK drqiqr

4,00,000
90,000

60,000

30,000

70.000

rtitT
qsft-{

3{Eq"f

sq
+fi

6,50,000 000506

UBS-50090 a (Contd.)



sr6{ fr 6E(

drEffi U6 (sIFFd)

upir 6fifr+1

lrts th-nn FrFt+l

hftqor <qr tat

Omfml

qrd-6 + rd$ 6dE.r)

{s-{ 6T q-q <vfil ft-rO

(10){, \rfi {t } s gftz srE( 6r edIT +rm ? <t

ot vR gftz ?t

(u) q" sT 6rffi *i-{ l80oo qe e I 16

3+rdt

qr6{ 'oI' nqr t' t {EiE( FrqRftld k{<q + 3rM{

qr yfr E*4-rt cfuqrf,{ cR-@ am dBq :-

ercr- F+4tfi 1atFf6)

ql.ilrt STtr{

H

rso00 F+ 6000 fr'fr

\., \.

2,50,000 1,50,000

7,500 7,500

7,000 4,000

6,000 5,000

3l qr{ 2015 +} r++ qt( qrfti rrgT. 3,to,ooo \.
efor ts,ooo <. w x-erft-o fri ,ri r frq .rft,r i
6qfr ilff a sfr+ sfrd snq d rrt 8%yfr Ed aI
t<rR fi Tq sfu{rq + 3 sd i o,q w ft-or+r<
3isr sr {"c Fr+ftq I t6

2. F.sRrr + ftr+. fr qfu{d tm' \. 5o,oo,ooo a I +
4,o0,ooo gtr qsr efr rin t0 {. \s lo,0oo, 9 %

f,4ffu+R qrT sfr qsr too t ErR t r

3t qrd 2ot5 6r ffi +1 .rtqT (S F{'r s-s,rr

rqft 5,00,000 dvr (ff:,oo,ooo

qrdt 3ier sft

sivl t. ro FT

oooo, ez" laFfon
$vr sfr dsr

tr. 100 Fr

{rff s ii*
3rsr rcqtfr

12,000

30

60

12,000

30

60

XFr c4

rtq{

ffi, C'?i q-,

F{f-d{

Rffirr s x

r9,00,000

20,00,000

30,00,m0

6,00,000

5,25,0@

2,m,000

r {.

UBS-50090 x (Contd.) uBs-5m90
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! r

2,17,5U) <qrdzr <cra x5,000

fufrq

1,75,000 Fq F'ITC 15,000
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AP-190  
	 ftcrzi-  4 ti-cJ 	 16 

3P-1-4T 	 M.Com. (Semester—I) Examination 

(31) 4-41.  f4EFTIff 4 Fa—d-Tai cPI 	t c vitzrr 
	

SERVICE MARKETING AND CUSTOMER 

m-et ,r1-4 	 16 
	 RELATIONSHIP MANAGEMENT 

3. (31) 	 — 	4-41-31'f chi ftcru -F'. 
	 Paper-102 

	

16 
	 Time—Three Hours] 	 [Maximum Marks-80 

Note :—(1) Attempt FIVE questions. 

(2) All questions carry equal marks. 
'3Trq 	TcrdT-ITT p 4 3wcf—d-rf 	#-qr fkETT9- 	 1. (a) Give detailed information about 'Services 

	

Tcrtsz 1-r--4 I 	16 	 Marketing Triangle'. 	 16 

4. 	(31) 4,1111 	z-44-4T2.7Er-9-  4l 3{m 444hdl IZTT 
	

OR 

mlti'4-4 I 	 16 	 (b) Discuss micro and macro environment for services 
marketing. 	 16 

2. (a) Discuss the value of targeting and positioning in 
#411-F;FT ftcrui 	chi cwt.! 	 I 	16 	 services Market. 	 16 

5. (31) JA I 	ch # 4,4"u 	 1 TFtP1 	 OR 
ct-, 1 	 1-44I 312kU dciI 	? 	16 	 (b) Explain the importance and process of distribution 

in services marketing. 	 16 34t171-  

3. (a) Discuss in detail -- 'Marketing of Financial 
(-) Jj 	l ctl •qzra-  "9-ftz7 	.131-rAt I 	 16 

Services'. 	 16 

OR 

(b) 'In this competitive era it is very important to do 

marketing of hospital services.' Explain it. 16 

UW0-45405 	 4 	 2950 	 UWO-45405 	 Contd. 



4. 	(a) 	Explain the need and importance of customer 

relationship management. 	 16 

16 3. (31) 	 m(1. 	— fa---417 4-41--  ft:179' . 

OR 31M-m-4 `3Tr-q-- rr (a) 	 pro- kJunM4l.. 	t1a1 itTorff 

(b) 	Explain the reasons for relationship marketing. 16 46cci I 	31*. 
16 

4. (3T) 	ti16ch 	tfciU z114-2,7149- 1 -r-11 	3TT4VEIT 3TI1 T 4-16c-q 

5. (a) 	What do you mean by developing and managing 16 (1. 
relationship with customer ? 16 

I~h ci1 
OR 

(b) 	Explain the process of customer selection. 16 
(4) 	kicitiffliT 	 WiTt VTZ 16 

5. 	(31) 	3ITOTzr.T 	4sfur-T 1:4wFr 	31-ftr 

cL1citg-m9- 	T-K-01 	arcq9- 	3ffcrig-rw 	crig 	3T2fa1a 

16 -t 	? 
Trrgrxr) 

:— (1) aim 779 	3TravurT 30. 
(4) 	131-6-T fk-43- 1A*ITT PTGE 	eh t 1. 16 

(2) 	t-ici -979191 	k14-119- 	Jr 	30d". 

‘ 11  1. (31) 	Dquillqi WM' 	ql 	'1 4) 	flitcR 'Trittf 
16 

(ft4r 4-11.1 4-1) 

:—(1) 	tftq 9j (4) 	 T-17 3Trit ~21 'P 	I. 

16 (2) 	Tit -979): 	•* 	3 .-T t I 

4 2. (31) 	cihsitttU 	ftif1T 	3rrit `.011 1. 	(3T) 	ftEro-F 	 ftGr4 	f4- 1-R 

16 trWrI 16 fiaTurr 	to4 	zufda4.11 	tIUf ct1. 

31N4T 

41- 	 mil (4) 	tlal 	fd ,pr9-Tt- 	4-1c-ci 	31 7% En-  Tcps-E 	11(1. (31) 	t1a1 	t-lu I ,4'-•7 	3117 	LitifcRui 

16 16 -̀ 1-f'41 
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AP-189 

M.Com. (Semester—I) EXamination 

MANAGERIAL ECONOMICS 

Paper-101 

Time—Three Hours] 	 [Maximum Marks-80 

Note :— (1) Solve all FIVE questions. 

(2) All questions carry equal marks. 

(3) Draw neat diagrams wherever necessary. 

1. (a) Explain the concept of Managerial Economics. 

Discuss its nature and scope. 	 16 

OR 

(b) Describe principles of opportunity cost and 

equimarginal principle with an example. 	16 

2. (a) Explain the concept of Income and Cross elasticity 

of demand and its importance in managerial 

decisions. 	 16 

OR 

(b) What do you mean by demand estimation and 

demand forecasting ? Discuss its managerial 

significance. 16 

UWO 45404 	 1 	 Contd. 



3. (a) What do you mean by short run cost functions ? 

Explain its managerial uses. 	 16 

OR 

(b) What do you mean by production function ? 

Explain the assumptions and characteristics of 

production function. 16 

4. (a) Define oligopoly and state its characteristics. How 

price is determined under oligopoly ? Explain. 

16 

OR 

(b) Explain the different types of markets on the basis 

of competition. Discuss price determination under 

perfect competition. 16 

5. (a) What is business cycle ? Describe the various 

phases of business cycle. 	 16 

OR 

(b) Discuss the effects of inflation and the measures 

to control the inflation. 	 16 

UW0-45404 
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2. (30 31TET I  f -t-dt (cross) cl 	z cl tick-49J  

	

144a--°14 furti 4 3- ff 	4-16c-cI cf-)) k-i-ItZ .#11:14 I 

16 

3Tv-T4T 

(q) 4-11J1 3T-417 	4-11J1 T-414-I1-1 # sTTIT 	 
g ? 3-T+°1 aW2Trcr+crzi T 	ti -cir 41-P4 

16 

3. (31) 3TT'ITW1A-9.  drnd 	# 311't clq-11 	g ? 
3crtr+T-A7cliJic1 	wia-+`1-4 	Tpznsz- I 

16 

3TzrdT 

(31) 
3c414-f 1-no4 	3Trq ci-Ln icy 	? -a4-#t 

qufa- 	► 	 16 

4. (3T)3 c1-791-tg 	l ,Riti-111s1T Uz-TT 	flc-1131):  ch) 
OZ.  Thtr4 I 3F-Crif 	 ct,) 

.fl-rA ► 	 16 

3TIEMT 

Tcrtr 	311THITT f'4,3-01-  

I rf Tquf chi) ft?-1Th-  4 tc-44 fkaf--(-7 

4i-Pq-4 ► 	 16 

5. (31) cimiR -*I,  1n-4 1-441 ? czn ,u( wish 	i4ftu tr--6131): 

(phases) 7-Pci 	i m 	1 	 16 

3Ttl-dr 

(A) 	TTtit 	 chl trcif   fkErfWd.  

3411 4-d-ffi- 4 I 	 16 

UW0-45404 
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(TRY& 4-1 (TA ) 

:—( 1) kid trr-4t 

(2) Hcf 79-9'f9j 

(3) 31 ►4VErT 	3TFFEri- 

1 . 	(30 z-zraz-i-rcr- T 	 -icf)c.-LI -I I Tclis- 	t I . 0-11 -c,g I 

kc.,L{ 3111t cg4-41  	 16 

faT 

(4) 11.1 	ct) TEPTI-4 dc-4 33TRT <1J-1R-1 4-11d 	.3416 tullti6 

• cl u 19-  wu. 	 16 

2. 	(30 	3Tlft Fd-tTh-ff 	et jr 	eh c-,491 

fkukru  	TTr. 	16 

ft4r 

(4) Trnrufi 3i--4-r-q 	Turruft tp-11i I -I zficiftlff 3ITEruirti 

3T2-1-ft 	? c- 4=LI I 4:1-4urn 6c.41-41 tu f 
16 

3. 	(4) 3179-T1(41a' 1.Rc4.44.4 	/IFIRT,ff 3ffcrarm wr4 

31.2.11-  6 	d ? 	
 cLi cur-crtzr 

.
err t y oz cn t 1. 

16 

fir 

(4) 	cLIN Ta-9-  T-01-4 TTIT ? \30-i149.  tba-ffTt Tgf 

4 -ftN'-pst- 	 16 
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4. (31")3 (Fc11Thr-41.  ctikczil cf-W 31-rfk Tzfr4'1 ftfis 	flI 1 11. 

3 cFcrif4WITM-  f -4,ra-  wet fkdikT  	.1“1. 

16 

far 

0) 
	

FfiT wart qi,floof4 fd-fttl-  991st 	oho. 

xuf 	f 	f=rgTRrrrt -ct -ci[ .41(1. 	16 

5. (3T) cLii*-11 	zit Vcri- 	0, 144 ? cLicftitRiT 	: 

f'd-Rft.7 - iTt-41 (phases) -citif c4 	j 	 16 

fT 

(4) -c41 LiRu11 4-ii -cn 	c4) 	czild 	I fkzftd 

fit~~ll~ 3411 dull. 	 16 

Tom-  :—(1) Zip yl 74-ff 6ci 

(2) WIft -1T1.9" 3 	g I 

(3) 31-tqc 	 . o1 	I 

1. 	(31") 	 31.2t-T4T7-3-1 Fr?1 r;ctic-LI -IT F:117 	I -0* 

oust 	 c1 4  	 16 

3TP-1-4T 

	

pR.4-141 cLILI ctc-GI 	 *1 3 	416 

aRt 	 -#tr4I 	 16 

4 	 Contd. U WO-45404 
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M.Com. (Semester—I) Examination 

BANKING & INSURANCE SERVICES 

Paper-104 

Time—Three Hours] 	 [Maximum Marks-80 

Note :— (1) Attempt ALL questions. 

(2) All questions carry equal marks. 

1. (a) What is computerisation ? Discuss its advantages 

and disadvantages for Banks. 	 16 

OR 

(b) Explain the process of credit creation of 

commercial banks and its limitations. 	16 

2. (a) State the functions of State Bank of India (S.B.I.). 

Explain its role in agricultural development. 

16 

OR 

(b) Explain the instruments of credit control of the 

Reserve Bank of India. 	 16 

UWO-45407 
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3. (a) What is privatization of Insurance ? Discuss the 

socio-economic effects of privatization of 

Insurance. 
	 16 

OR 

(b) What is General Insurance ? State the principles 

of Insurance. Explain the settlement procedure 

of general Insurance. 16 

4. (a) What is Marine Insurance ? Explain the principles 

and importance of Marine Insurance. 	16 

OR 

2. (3T) 	4* 311-EF 	T (S.B.I.) 	if k-t! 	 

	

T f 	r4 Virc TcRsz mr11 -4 i 	16 

31N-4T 

N) IET-01-4 ft-,14 -4T 	f'4/i-Tar 

r3rf'4 	 16 

3. (3.i) 41 4-1,1 	l'i414, (ur 	Mei 	? 	 fkiTh–Ttri 

LIRu11 4-1)i  c) t4r4T 	11-ikk I 	16 

3P-17T 

(4) N 	 I ctti I 	? (-11 4-1 V 4-I 41 4-11 	d 	ter-? I 

fili-k•-zi 4) 4-11 	r viii F4-EldRi 	TTzpsz- 

16 

	

(b) State the importance of Fire Insurance. Explain 
	

4. 	(3T) %AM 	+11 cl-LI I 	? vl 	cl 41 4-i I 	c-10 	quiTr-6T-4- 

the various kinds of Fire Insurance Policies. 	 Liz, c. - rl-Wr I 	 16 

	

16 	 3TN-4T 

5. (a) Explain the functions and management of the 

Industrial Finance Corporation of India (I.F.C.I.). 

16 

OR 

(b) Discuss the functions of International Bank for 

Reconstruction and Development (I.B.R.D.). 

Explain its role in Economic development of India. 

16 

UWO-45407 
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(4 ) 31f la. 	TITC4- 	 31fT'9' 

16 

5. 	(31) iTatzr At-firT fku 4-114sc-i 	crizf, 7-1TL 	 

	

tit4I 	 16 

mar 

(A) 3i-f-aTus-41-4 I1f4i-Jui 	fi--Fr aT (IBRD) 

-c4r4 I m`l-WrI 	3T1f 	fiwr-ff 4 

	

3a 1 14--r 	 I 	 16 

U WO 45407 
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(1-1Z1cn liTGEI-rf) 

(i) TO 131ff ff)3-4T. 

(2) TO 319-f9-T fl 4-11 -1 dui 311tU. 

1. 	(3T) fl'iluicct)tul (Computerisation) T-6-11F,1 tiq ? 	TT 

-al 	 -t4tir ct)ti. 	16 

• 

(4) amTre 	 71%-zTT cizrlsz chti 31-ftr 

ct11rA41 TrzifTr  	 16 

2. (31)     3T1IF .e84r (S.B.I.) 41 	fOrq 	 

fagniclicilci f -41 iffirwr woe. ct ,  t 1 . 	16 

. 4 1 

(() 1-11-T-jtir f 	4* 1 Mt-z1 4-1 f)4,1u11 -41 Trrt.T 

16 

3. (30 f 	tglvljflct ui -493-r4 4, 14 ? fd4441=-441 (11 ,31411.muii=m 

fli4-1Act,  a311-W t1Ruti4-1141 ltif Tv. 	16 

• 
4 1 

(4) twii-Li ftqf T-674 chiLl ? fl4-11-1.1D4-41-41 dc-4 4.-11411. 

Fm-R-trr F4-7=z-T4 la cis1/41)-frzfr 13-f+-zrr Tupsz-  1-> t r. 

16 

4. (30.11 4-Afact) fd -111" T-61111" 	 1-LII -4) tic 

pica P7TTsZ cr—M 	 16 

War 

UWO---45407 	 3 	 (Contd.) 



(TO 3iTt 1 	 cLII=.441 

cffrci 	ctIR 	 16 

5. 	(al ITT-c4fig-    (IFCI) 	4 

Tg4F411:19.  7{/sZ 	 16 

qI 

(4) 3Ti—dTTPsZYT 19f44-11ut a 1=4----wr TAT (IBRD) 

Trar-t 	44u. 	 fdcomid 

Trpsz-  cp(i. 	 16 

(ft-4r Trram) 

(1) Tilft 9-qff 6ci Stir t I 

(2) Tit 7v9). 	fl4-111 

1. 	(30 fl4luAct,01 of-zir g ? 44;1. 	Ttat4-d 	Jr-a)it 

	 (t1"41 	 16 

3TT 

(4) 4fR1734-  3Tru0-q- 	Tag fkwfur 	-7%un- 

our 	Trzrf-arA 	. 1-Pq-4 I 	16 

UWO-45407 
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ci V1 

dc19- 	 3,38,000 

(02-11c1( ct11 ,31 	1,80,000 

2,61,20,000 

hat  qtrW1 Tql-jt 

c-14 -  31/03/2015 -4--4M 	 

(i) 3TtT W 20%. 

(ii) 31-449-40-1-1 	d 	: 

(ST) LiR(-1(11 < 5% 

ti2iI.R 10% 

(T) .it-R-cticR 5%. 

(iii)	 5% 4(14 iftd ct)Q1k10 d(1,4 	J . 

(iv) (11 411-z; f•-wt Z 1,00,000 2.T1--IidRd 4)(1. 

(v) t1(11 	d (c1,4 Z 2,50,000. 

(vi) TITO-9-W 31 /03/2015U Z 25,00,000 

(vii) tic 	iliscldicR 5% -4-T14 -ri-Tt7Trqr 

TaT-4 	
16 

UWO-45406 
	 16 	 (Contd.)  

M.Com. (Semester-I) Examination 

ADVANCED FINANCIAL AND COST 

ACCOUNTING 

Time—Three Hours] 	 [Maximum Marks--80 

Note :— (1) ALL questions are compulsory. 

(2) All questions carry equal marks. 

(3) Give working notes wherever 

necessary. 

1. There was a difference of Z 5,750 in the Trial Balance. 

It was transferred to the debit side of Suspense Account. 
Afterwards following errors were discovered. Rectify 

these errors and prepare Suspense Account : 

(i) An amount of Z 13,750 was posted as Z 18,750 

to the debit side of Commission Account. 

(ii) Purchases from Pravin on credit for Z 10,000 

was posted to his account as Z 12,500. 

(iii) 3,750 was paid for wages but no record was 

made for it. 

(iv) An amount of Z 10,000 received from Jayant was 

posted to the debit side of his account. 

(v) A credit amount of Z 2,500 was debited to Personal 

Account (Drawings A/c) as Z 7,500. 

UWO---45406 
	 1 	 (Contd.) 
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(vi) Z 10,000 was entered as Z 1,000 only in Bills 
Receivable Book. 

(vii) Z 3,750 paid for wages was posted twice to the 

Wages Account. 

(viii)Rajesh's Account was credited with Z 42,000 two 

times instead of once. 	 16 

OR 

The Balance Sheet of Advait Co. Ltd. as on 31'' March 

2015 is given below. The following additional 

information is also provided by the company : 

(i) The interest of Z 3,000 received on non-trading 

investments is included in the profit of 2014-15. 

(ii) The present value of Land and Building is 
Z 1,20,000. 

(iii) The plant is valued at Z 20.000 and stock at 
Z 30,000. 

(iv) The normal rate of profit is 10% p.a. on capital 
employed in the business. 

Liabilities Assets 

Share Capital : Goodwill 15,000 

10,000 Equity shares Land and Building 40,000 

of Z 10 each 1,00,000 Plant 50,000 

Reserve Fund 45,000 Investment (Non- 

P & L Account 30,000 trading) 60,000 

UWO-45406 2 (Contd.) 

1,20,00,000 2. 	-i  Wt.*fp-  141T-4ff Z 
3170  100 -,--441 	ti 4-Id I 	1.-TTITTT(di 	F43-1-111 	31*. 

4-15c11 	4-ii-cf 	-44.14 31  	2015 	c 

31* 	: 

ff 	97i-ru 	• 

ft-4-Tur z 
rith-fT 60,00,000 	1T1T1 

#47 	.47 72,00,000 	offd- 	34-ft 
Trur mlifF 1,50,000 	TV-  92.000 

1,50,000 	917 CT 141-11 W4ct 311111 1 	41U-1I 

Wttf 37,00,000 	Z 1 00 92,00,000 

5,00,000 
c 4-144 1,00,000 	TITql7z- 

60,00,000 2,62,000 	6% 

TN1cich 	-97T- 
2,90,000 1,14,800 

Iftd T-4 42,200 	ftftt.T 	trff 10,00,000 
8% thcht0 12,00,000 	ait-d 

11c1f-11,61 	(1/4/2014) 15,00,000 	cTr v7v 70,000 

1,44,000 Fort 83,00,000 
(1 k-ct,  ( 

Pa-ftu 
7.60,000 17,40,000 

5,00,000 (‘-q 041 

16,96,000 

15,000 

7,98,000 

. 9Pzrr;-- Er 	Tq--4 2,90,000 
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(iii) trtl Z 20,000 a 411clkilo1 	Z 30,000 

31t 

10% 3flt 

c119-TRT Td --471--4t -atm ti1J-IH4 
(iv) cticRilziAcl 

qfti-T.  

tzrffr tjL 

15,000 

40,000 

ITPT 	: 

10,000 Wrdt Tft +11tc-i 

9T-z1-41 Z 10 F 1,00,000 

TRtf4 

 

fist 

50,000 

aThrdlzi t 

45,000 

30,000 

j,dcivi, 

 -ct;t.T 

(6174171t) 60,000 

50,000 

8% ht 50,000 'Eur- r 70,000 

fff4ti 30,000 - 3 Wit 10,000  60,000 

20,000 cich 20,000 

25,000 Tit5'T, 5,000 C/44 
-t - t•tt (TI-EN) 

3,00,000 3,00,000 

att-o• 	11-rft4- 9 3 alsf Katt 	 3TTaft 

3T-ruT:Fr 	-crr-41-4 	 16 

UW0-45406 
	 14 	 (Contd.) 

Liabilities Z Assets 

8% Debentures 50,000 Stock 50,000 

Sundry Creditors 30,000 Debtors 70,000 

Provision for taxes 20,000 - RBD 10,000 60,000 

Depreciation Fund Bank 20,000 

(Plant) 	 25,000 Preliminary 

	

Expenses 	5,000 

3,00,000 	 3,00,000 

From the above information calculate the value of 

goodwill on the basis of 3 years purchases of super 

profit. 	
16 

2. Finolex Pipes Co. Ltd. had an authorised capital of 

Z 1,20,00,000 in equity shares of Z 100 each. The 

following is the Trial Balance of the company as on 

31st March 2015 : 

Particulars Particulars 

Premises 60,00,000 Share Capital 

Plant & Machinery 72,00,000 (Auth. and Paid 

Interim dividend 1,50,000 up 92,000 equity 

Calls in arrears 1,50,000 shares of Z 100 

Purchases 37,00,000 each) 92,00,000 

Preliminary Exp. 1,00,000 General Reserve 5,00,000 

Freight 2,62,000 6% Debentures 60,00,000 

UWO 45406 3 (Contd.) 



Particulars Particulars 

Director's Fee 

Bad Debts 

8% Govt. Securities 

Stock on 1/4/2014 

Fixtures 

Sundry Debtors 

Goodwill 

Wages 

Cash in Hand 

Cash at Bank 

General Exp. 

Salaries 

Debenture Interest 

1,14,800 

42,200 

12,00,000 

15,00,000 

1,44,000 

17,40,000 

5,00,000 

16,96,000 

15,000 

7,98,000 

2,90,000 

3,38,000 

1,80,000 

Profit & Loss A/c 

Sundry Creditors 

Provision for 

Doubtful Debts 

Sales 

Bills Payable 

2,90,000 

10,00,000 

70,000 

83,00,000 

7,60,000 

(ii) 	ff 71 	4)5,ff Z 10,000 t 	Jilci 	UtITT KqT41. ficil 

lclr 	Lk 	c-zlict 	Z 	12,500 fuLlfc-1 	arr. 

Tritr (iii) Z 3,750 P4- • 	?TIT wc 
• -t Ter. 

(iv) 7,11f-d. 	Z 10,000 vriTr TrO . 	q0 -.441 	(011c-tild 

ar-ver r 	31-A. 

(v) Z 2,500 c-t, 	,14-11 	Tref 	zaa?frir -ff 	(3 	c1)(c11041 

7:fdi Z 7,500 	9T 	cb(iNict 	31-r-dt 

Z (vi) 10,000 	vrtirf 	X 	iii th-4T1- 	1,000 

(vii) Z 3,750 13-0-4 f tilt w.i 

3frt 

2,61,20,000 2,61,20,000 
Oit-4-11c1 Z 42000 	toT t"4-41 .4-19.  4-er 

Prepare the Final Accounts of the Company and Balance 

Sheet as on 31/03/2015 after taking into consideration 
the following adjustments : 

(i) Write off preliminary exp. 20%. 

(ii) Provide for depreciation on : 

(a) Premises @ 5% 

(b) Plant & machinery @ 10% 

(c) Fixtures at 5%. 

UWO-45406 	 4 	 (Contd.)  

v1 4-11 cMuLfIcl 3fT. 	 16 

-War 

3fid VT4t fTfr. 	31 J1I -cf 2015 	itztd-ftqTri 
TTR4 	 3TPditaf wit& vfat 

311* : 

(i) 3TaTtrRer Ts-daul#t afr- -aTp: Z 3,000, 2014-15 
9-1cFzUd f-i+14Nd 30- 

(ii) Tit a :',4-ii(d)-4 (ter  	1,20,000 3ITt 
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(iii) Bad debt provision shall be @ 5% on debtors. 

(iv) Transfer 1,00,000 to General Reserves. 

(v) Provision for taxation 2,50,000. 

(vi) Stock on 31/03/2015 was 25,00,000. 

(vii) Directors proposed 5% dividend on equity share 

capital. 	 16 

OR 

The Balance Sheet of Aditya Co. Ltd. on 31st March 

Particulars Amount Z 

 

Materials returned to stores 

Work certified 

Work not certified 

Material in hand on 31/3/2015 

Wages due on 31/3/2015 

Direct Expenses due on 31/3/2015 

Value of Plant 31/3/2015 

549 

1,95,000 

4,500 

1,883 

2,400 

240 

11,000 

     

The contract price was 5,00,000. Cash received from 

contractee was 1,80,000. 

You are required to : 

(a) Prepare the Contract Account and 

(b) Prepare the Contractee's Account. 	16 

(TRfft TrrcTITO 

:— (1) TO 7,49 3Tfk-o-rEf 

(2) t "P-9.T .iT *1 4-i i 1 	T 3rit7. 

(3) 31T-4.9W ftm-rult /11-zr Fa-crr 

1. 7wr 	tiAti4ibt. 	5,750 qf 

ThAkff     -4r1m 	 ct, u441ci 3IT 1. 

Tqr-A-c.9. 	Pc.oic-tm uTTr 	i 31rfk 

ffctt0id UZI-FT ct)1 : 

(i) #47H.  010-11 -,-441 914 Wei 	13,750 tT itflurf 

18,750 fc.)u44ic-I 31-A 

UWO--45406 
	 12 	 (Contd.) 

2015 was as under : 

Liabilities Assets 

Share Capital : Land & Buildings 4,00,000 

Authorised & Issued Plant & 

625 Equity shares of Machinery 12,40,000 

600 each fully paid 3,75,000 Sundry Debtors 4,00,000 

Debentures 11,00,000 Preliminary 

Creditors 3,00,000 Expenses 50,000 

General Reserve 2,15,000 Debentures Fund 

Debentures Sinking Investment 2,00,000 

Fund 2,00,000 Cash in hand 10,000 

Profit & Loss A/c 1,10,000 

23,00,000 23,00,000 

UWO-45406 5 (Contd.) 



Aditya Co. Ltd. was absorbed by Pratik Co. Ltd. on 

the following terms : 

(i) Pratik Co. Ltd. decided to take over land & 

building, plant & machinery and debenture fund 

investments at book values, sundry debtors at 

Z 3,50,000 and goodwill at Z 3,10,000. 

(ii) Pratik Co. Ltd. has to take over creditors. 

(iii) Purchases price is to be satisfied by issue of 

1250 fully paid equity shares of Z 600 each of 

which the market value was Z 800 and the Balance 

in cash if any. 

(iv) Liability to debenture holders including interest 

to be met by the issue of Z 12 00,000 12% Debentures 

by Pratik Ltd. 

The cash of Z 10,000 is sufficient for expenses 

which Aditya Co. Ltd. had to meet. 

Pass entries giving effect to the above scheme in 

Journals of both the companies. 	 16 

3. "A good system of costing is an invaluable gift to 

management." Enumerate the main points in support 

of this statement. 	 16 

OR 

UW0-45406 
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Subsequent expenses are as follows : 

Main Product 	By Product 
X Y 

z 
Z 

z 
Material 	1,12,500 54,000 63,000 
Labour 	 85,500 72,000 90,000 
Overhead 	67,500 40,500 47,250 

Total Cost 	2,65,500 1,66,500 2,00,250 

Selling Price 	13,50,000 9,00,000 6,75,000 
Estimated Profit on 

Selling Price 	40% 	30% 	25%  

Show how you would apportion the joint expenses of 
manufacture and prepare_the necessarceetifits.---1-6- 

OR 

The following particulars relate to a Contract undertaken 
by a firm of engineers : 

(Year 1/4/2014 to 31/3/2015) 

Particulars 	 Amount Z 
Materials sent to site 85,349 
Labour engaged on site 74,375 
Plant installed at site 15,000 
Direct expenses 3,169 
Establishment charges 4,126 

UWO-45406 	 11 	 (Contd.) 



`A' Transport Company has been given a 20 km long 

route to run a bus. The bus costs Z 5,00,000 and has 

been insured @ 6% p.a. while annual taxes amount to 

Z 20,000, Garage rent is Z 1,000 p.m. Yearly repairs 

will be Z 20,000 and the estimated life of bus is 

5 years. 

The driver's salary will be Z 30,000 p.a. and that 

of conductor's Z 18,000 p.a. in addition to 10% of the 

taking as commission (to be shared by the driver and 

the conductor equally). Cost of stationery will be 

! 6,000 p.a., manager's salary is Z 4,000 p.m. who 

also looks after accounts. 

Petrol and oil will be Z 500 per 100 km. The 

bus will make 3 round trips carrying on the average 

40 passengers on each trip. Assuming 25% profit on 

Bus fare, calculate the bus fare to be charged from 

each passenger. The bus runs on an average for 

25 days in a month. 16 

5. In a manufacturing concern a certain product 'X' yields 

by-products 'Y' and 'T. 

The joint expenses of manufacture are : 

Material 3,83,000 

Labour 4,05,000 

Overhead 3,37,000 

11,25.000 

Prepare a Cost Statement showing : 

(i) Material consumed 

(ii) Prime cost 

(iii) Factory cost 

(iv) Cost of production 

(v) Total cost and Net profit 

for the year 2014-15 of Chemical Works Manufacturing 

Ltd. : 

Particulars Kg. 

Stock on 1" April 2014 : 

Raw Materials 2,000 20,000 

Finished Mixture 500 17,500 

Factory Stores 72,500 

Purchases : 

Raw Materials 1,60,000 18.00,000 

Factory Stores 2.42,500 

Sales : 

Finished Mixture 1.53,050 91,80,000 

Factory Scrap 81,700 

Factory Wages 17,86,500 

Power 3,04,000 

Depreciation of Machinery 1,80,000 

Salaries : 

Factory 7.22,200 

U WO --45406 
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Particulars 	 Kg. 
Office 	 3,72,200 
Selling Department 	 4,15,000 

Expenses : 

Direct 	 1,85,000 
Office 	 1,82,000 
Selling Department 	 1,80,000 

Stock on 31st March 2015 : 

Raw Materials 	 1,200 
Finished Mixture 	 450 
Factory Stores 	 55,500 

Stock of finished mixture is to be valued at the factory 

cost of the year ended 2014-15. The purchase price of 

Raw Materials remains unchanged throughout the year 
2014-15. 16 

4. The following annual charges are incurred in respect 

of a machine where manual labour is almost nil and 

where the work is done by means of five machines of 
exactly similar type and specifications : 

(i) Rent and Rates (Proportional to 

the floor space occupied) for the 

workshop 

UWO--45406 	 8 

(ii) Depreciation on each machine 	50,000 

(iii) Repairs and maintenance charges 

for five machines 	 1,00,000 

(iv) Power (as per metre) @ Z 100 per 

16 units consumed for the workshop 	3,75,000 

(v) Electric charges for light in the 

workshop 
	

54,000 

(vi) Attendants : There are two attendants 

for the five machines and they are 

each paid salary of Z 6,000 per month 

(vii) Supervision : For the five machines 

in the workshop there is one super- 

visor whose emoluments are Z 25,000 

per month 

(viii)Sundry Expenses 	 49,500 

(ix) Hire-purchase instalment payable for 

the machines (including Z 30,000 as 

Interest) 	 1,20,000 

(x) The machine uses 10 units of power 

per hour. 

Calculate the Machine Hour Rate for the year. 16 

OR 

9 	 (Contd.) 

48,000 
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1,82,000 
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1,200 
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55,500 
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sTRF a fkrftru- TrEN4 441 12,40,000 

it '4a 3F,4-u-r-+)-  4,00,000 625 	t1 4-101 	I-111T 

Z 600 wir 47r 3,75,000 50,000 1;rit cw4 

11,00,000 F4t.t.  ch.f 

3,00,000 2,00,000 

2,15,000 10,000 ti 1J-11- ,1 6rci*-4 

2,00,000 cr ,it a i-ft-u f4th 

1,10,000 9- h-r-o?zT 	tcIll 

23,00,000 23,00,000 

(rte 31-tf- rr 3Trart ,41'd* *r -4f f9-1--ft. 	31rWa- 

fo- . 	(4fd1 	44 	4c-f 	 : 

(i) *. fk4t. 	Tft 	 z171 311rfit 

	 f:Wr -0--Tv 9r -Tr-#t Q-zuct< fftk4 

ftft4 	Z 3,50,000 	1Tcfl Z 3,10,000 9-r 

(ii) 9-r t1-9-- r u11 ,1 4-11 



( . pluoD) 
(puop) 

000`S8` I 

000'S I 't 

00C."`ZL'E 

00Z`ZZ'L 

81 	 9017gb--0M11 

121241h klaiktki (iii) 

h1L 1llif, 0!) 

ilkitLa 0) 

P 1 tP  L I? LID  11I2 	111:n 4a .k  ,41:> Vj I Et  P_WILI 

000'08'1 

000`170`E 

00S`98'L1 

: 

'Him, 	tot 

11Th 

91 

. 	 1,1414 	W-t114? 	Its 

41044 
p1.✓pt-ti4 	Ih11J1fl 	112. 4 

00e18 1011:tk 
140ihnp.ts GC 	 *nab. htta,4h—igaILI—galf 

000'08'16 OSO'Cg` I InI4541, 	11171-)  91 • T .L.Lp* 

:1 PiptilrT 	I Fra.190 g1-tK q1141terQ  Plo-drelLio  1.k .k‘4 

00S‘Z17‘Z 1091L4 4°411kl .2411E 	4ga 	(Ptit4:110-b) 
000'00'81 000'091 

Ili-11n(..9 	. 4[44 .6\)Sclo h4la 000' 01 	h12 

• 00 	̀ZL, 10 	rt 	4-411-P4 

00g` Ll 00g IniCs44 	)._112fl 
ikEtji_k,j 	 °AZ! '000'00' Z1 	*4-141 1,h .L13  

000‘02 000'Z 4trila (1411E‘lt-rD) 1122-41n 	?l? \* (AO) 

(tIOZ 	grgi 	I) 	19114 W1I-t -11t101?4  hn1. 
2 	itLft_ **1.  

 1W1€ 	 008 1 

	

Frt-pUh  .111:La (A) 	
1-  	I In I Is, 	 -1t-r1D I CA 	Jvitlitat, 	1P1-r1-4  

121244b. 	Ih-F\  (Ai) 	
k-1124t.)  009 1 Ltikit 	- 1 P`-hT1 kr46  (tit) 



clot 	 Tret Z 

TrFPft --z-)-4 ch.) arurt 	 549 	 (vi) i-R -ciRcti : Lii -ci Li7itct, Rdi 2 HR -ciRcii 

4-ii Id chiEf 	 1,95,000 	 311 is Tzif9j -9T4- 1-  Z 6,000 4 0-il dci9.  

3TEATrftrd Trzf 	 4,500 	 it ,,O. 

Tt= 2,1' TITTI1 31/3/2015 	 1,883 
(vii) f..RaTT : Tim-  Lill-au fft'..-TuTrwrt 

3F4--fl.  Tr-4V 31/3/2015 	 2,400 
t;.t, -N't.9-T 30. 7,-zTr 	cl - 	“1-il 

31--.  WL14.i c4 4-1 31/3/2015 	 240 	►  

Z 25,000 31t. 

•:(-ui-- • ti TF-LT 31/3/2015 	 11,000 
49,500 
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M.Com. (Semester-I) Examination 

ADVANCED FINANCIAL AND COST 

ACCOUNTING 

Time—Three Hours] 	 [Maximum Marks--80 

Note :— (1) ALL questions are compulsory. 

(2) All questions carry equal marks. 

(3) Give working notes wherever 

necessary. 

1. There was a difference of Z 5,750 in the Trial Balance. 

It was transferred to the debit side of Suspense Account. 
Afterwards following errors were discovered. Rectify 

these errors and prepare Suspense Account : 

(i) An amount of Z 13,750 was posted as Z 18,750 

to the debit side of Commission Account. 

(ii) Purchases from Pravin on credit for Z 10,000 

was posted to his account as Z 12,500. 

(iii) 3,750 was paid for wages but no record was 

made for it. 

(iv) An amount of Z 10,000 received from Jayant was 

posted to the debit side of his account. 

(v) A credit amount of Z 2,500 was debited to Personal 

Account (Drawings A/c) as Z 7,500. 

UWO---45406 
	 1 	 (Contd.) 
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(vi) Z 10,000 was entered as Z 1,000 only in Bills 
Receivable Book. 

(vii) Z 3,750 paid for wages was posted twice to the 

Wages Account. 

(viii)Rajesh's Account was credited with Z 42,000 two 

times instead of once. 	 16 

OR 

The Balance Sheet of Advait Co. Ltd. as on 31'' March 

2015 is given below. The following additional 

information is also provided by the company : 

(i) The interest of Z 3,000 received on non-trading 

investments is included in the profit of 2014-15. 

(ii) The present value of Land and Building is 
Z 1,20,000. 

(iii) The plant is valued at Z 20.000 and stock at 
Z 30,000. 

(iv) The normal rate of profit is 10% p.a. on capital 
employed in the business. 

Liabilities Assets 

Share Capital : Goodwill 15,000 

10,000 Equity shares Land and Building 40,000 

of Z 10 each 1,00,000 Plant 50,000 

Reserve Fund 45,000 Investment (Non- 

P & L Account 30,000 trading) 60,000 

UWO-45406 2 (Contd.) 

1,20,00,000 2. 	-i  Wt.*fp-  141T-4ff Z 
3170  100 -,--441 	ti 4-Id I 	1.-TTITTT(di 	F43-1-111 	31*. 

4-15c11 	4-ii-cf 	-44.14 31  	2015 	c 

31* 	: 

ff 	97i-ru 	• 

ft-4-Tur z 
rith-fT 60,00,000 	1T1T1 

#47 	.47 72,00,000 	offd- 	34-ft 
Trur mlifF 1,50,000 	TV-  92.000 

1,50,000 	917 CT 141-11 W4ct 311111 1 	41U-1I 

Wttf 37,00,000 	Z 1 00 92,00,000 

5,00,000 
c 4-144 1,00,000 	TITql7z- 

60,00,000 2,62,000 	6% 

TN1cich 	-97T- 
2,90,000 1,14,800 

Iftd T-4 42,200 	ftftt.T 	trff 10,00,000 
8% thcht0 12,00,000 	ait-d 

11c1f-11,61 	(1/4/2014) 15,00,000 	cTr v7v 70,000 

1,44,000 Fort 83,00,000 
(1 k-ct,  ( 

Pa-ftu 
7.60,000 17,40,000 

5,00,000 (‘-q 041 

16,96,000 

15,000 

7,98,000 

. 9Pzrr;-- Er 	Tq--4 2,90,000 
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(iii) trtl Z 20,000 a 411clkilo1 	Z 30,000 

31t 

10% 3flt 

c119-TRT Td --471--4t -atm ti1J-IH4 
(iv) cticRilziAcl 

qfti-T.  

tzrffr tjL 

15,000 

40,000 
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TRtf4 

 

fist 

50,000 
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45,000 

30,000 

j,dcivi, 

 -ct;t.T 

(6174171t) 60,000 

50,000 

8% ht 50,000 'Eur- r 70,000 

fff4ti 30,000 - 3 Wit 10,000  60,000 

20,000 cich 20,000 

25,000 Tit5'T, 5,000 C/44 
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UW0-45406 
	 14 	 (Contd.) 

Liabilities Z Assets 

8% Debentures 50,000 Stock 50,000 

Sundry Creditors 30,000 Debtors 70,000 

Provision for taxes 20,000 - RBD 10,000 60,000 

Depreciation Fund Bank 20,000 

(Plant) 	 25,000 Preliminary 

	

Expenses 	5,000 

3,00,000 	 3,00,000 

From the above information calculate the value of 

goodwill on the basis of 3 years purchases of super 

profit. 	
16 

2. Finolex Pipes Co. Ltd. had an authorised capital of 

Z 1,20,00,000 in equity shares of Z 100 each. The 

following is the Trial Balance of the company as on 

31st March 2015 : 

Particulars Particulars 

Premises 60,00,000 Share Capital 

Plant & Machinery 72,00,000 (Auth. and Paid 

Interim dividend 1,50,000 up 92,000 equity 

Calls in arrears 1,50,000 shares of Z 100 

Purchases 37,00,000 each) 92,00,000 

Preliminary Exp. 1,00,000 General Reserve 5,00,000 

Freight 2,62,000 6% Debentures 60,00,000 

UWO 45406 3 (Contd.) 



Particulars Particulars 

Director's Fee 

Bad Debts 

8% Govt. Securities 

Stock on 1/4/2014 

Fixtures 

Sundry Debtors 

Goodwill 

Wages 

Cash in Hand 

Cash at Bank 

General Exp. 

Salaries 

Debenture Interest 

1,14,800 

42,200 

12,00,000 

15,00,000 

1,44,000 

17,40,000 

5,00,000 

16,96,000 

15,000 

7,98,000 

2,90,000 

3,38,000 

1,80,000 

Profit & Loss A/c 

Sundry Creditors 

Provision for 

Doubtful Debts 

Sales 

Bills Payable 

2,90,000 

10,00,000 

70,000 

83,00,000 

7,60,000 

(ii) 	ff 71 	4)5,ff Z 10,000 t 	Jilci 	UtITT KqT41. ficil 

lclr 	Lk 	c-zlict 	Z 	12,500 fuLlfc-1 	arr. 

Tritr (iii) Z 3,750 P4- • 	?TIT wc 
• -t Ter. 

(iv) 7,11f-d. 	Z 10,000 vriTr TrO . 	q0 -.441 	(011c-tild 

ar-ver r 	31-A. 

(v) Z 2,500 c-t, 	,14-11 	Tref 	zaa?frir -ff 	(3 	c1)(c11041 

7:fdi Z 7,500 	9T 	cb(iNict 	31-r-dt 

Z (vi) 10,000 	vrtirf 	X 	iii th-4T1- 	1,000 

(vii) Z 3,750 13-0-4 f tilt w.i 

3frt 

2,61,20,000 2,61,20,000 
Oit-4-11c1 Z 42000 	toT t"4-41 .4-19.  4-er 

Prepare the Final Accounts of the Company and Balance 

Sheet as on 31/03/2015 after taking into consideration 
the following adjustments : 

(i) Write off preliminary exp. 20%. 

(ii) Provide for depreciation on : 

(a) Premises @ 5% 

(b) Plant & machinery @ 10% 

(c) Fixtures at 5%. 
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v1 4-11 cMuLfIcl 3fT. 	 16 

-War 

3fid VT4t fTfr. 	31 J1I -cf 2015 	itztd-ftqTri 
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311* : 
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(iii) Bad debt provision shall be @ 5% on debtors. 

(iv) Transfer 1,00,000 to General Reserves. 

(v) Provision for taxation 2,50,000. 

(vi) Stock on 31/03/2015 was 25,00,000. 

(vii) Directors proposed 5% dividend on equity share 

capital. 	 16 

OR 

The Balance Sheet of Aditya Co. Ltd. on 31st March 

Particulars Amount Z 

 

Materials returned to stores 

Work certified 

Work not certified 

Material in hand on 31/3/2015 

Wages due on 31/3/2015 

Direct Expenses due on 31/3/2015 

Value of Plant 31/3/2015 

549 

1,95,000 

4,500 

1,883 

2,400 

240 

11,000 

     

The contract price was 5,00,000. Cash received from 

contractee was 1,80,000. 

You are required to : 

(a) Prepare the Contract Account and 

(b) Prepare the Contractee's Account. 	16 

(TRfft TrrcTITO 

:— (1) TO 7,49 3Tfk-o-rEf 

(2) t "P-9.T .iT *1 4-i i 1 	T 3rit7. 

(3) 31T-4.9W ftm-rult /11-zr Fa-crr 

1. 7wr 	tiAti4ibt. 	5,750 qf 

ThAkff     -4r1m 	 ct, u441ci 3IT 1. 

Tqr-A-c.9. 	Pc.oic-tm uTTr 	i 31rfk 

ffctt0id UZI-FT ct)1 : 

(i) #47H.  010-11 -,-441 914 Wei 	13,750 tT itflurf 

18,750 fc.)u44ic-I 31-A 
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2015 was as under : 

Liabilities Assets 

Share Capital : Land & Buildings 4,00,000 

Authorised & Issued Plant & 

625 Equity shares of Machinery 12,40,000 

600 each fully paid 3,75,000 Sundry Debtors 4,00,000 

Debentures 11,00,000 Preliminary 

Creditors 3,00,000 Expenses 50,000 

General Reserve 2,15,000 Debentures Fund 

Debentures Sinking Investment 2,00,000 

Fund 2,00,000 Cash in hand 10,000 

Profit & Loss A/c 1,10,000 

23,00,000 23,00,000 
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Aditya Co. Ltd. was absorbed by Pratik Co. Ltd. on 

the following terms : 

(i) Pratik Co. Ltd. decided to take over land & 

building, plant & machinery and debenture fund 

investments at book values, sundry debtors at 

Z 3,50,000 and goodwill at Z 3,10,000. 

(ii) Pratik Co. Ltd. has to take over creditors. 

(iii) Purchases price is to be satisfied by issue of 

1250 fully paid equity shares of Z 600 each of 

which the market value was Z 800 and the Balance 

in cash if any. 

(iv) Liability to debenture holders including interest 

to be met by the issue of Z 12 00,000 12% Debentures 

by Pratik Ltd. 

The cash of Z 10,000 is sufficient for expenses 

which Aditya Co. Ltd. had to meet. 

Pass entries giving effect to the above scheme in 

Journals of both the companies. 	 16 

3. "A good system of costing is an invaluable gift to 

management." Enumerate the main points in support 

of this statement. 	 16 

OR 
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Subsequent expenses are as follows : 

Main Product 	By Product 
X Y 

z 
Z 

z 
Material 	1,12,500 54,000 63,000 
Labour 	 85,500 72,000 90,000 
Overhead 	67,500 40,500 47,250 

Total Cost 	2,65,500 1,66,500 2,00,250 

Selling Price 	13,50,000 9,00,000 6,75,000 
Estimated Profit on 

Selling Price 	40% 	30% 	25%  

Show how you would apportion the joint expenses of 
manufacture and prepare_the necessarceetifits.---1-6- 

OR 

The following particulars relate to a Contract undertaken 
by a firm of engineers : 

(Year 1/4/2014 to 31/3/2015) 

Particulars 	 Amount Z 
Materials sent to site 85,349 
Labour engaged on site 74,375 
Plant installed at site 15,000 
Direct expenses 3,169 
Establishment charges 4,126 
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`A' Transport Company has been given a 20 km long 

route to run a bus. The bus costs Z 5,00,000 and has 

been insured @ 6% p.a. while annual taxes amount to 

Z 20,000, Garage rent is Z 1,000 p.m. Yearly repairs 

will be Z 20,000 and the estimated life of bus is 

5 years. 

The driver's salary will be Z 30,000 p.a. and that 

of conductor's Z 18,000 p.a. in addition to 10% of the 

taking as commission (to be shared by the driver and 

the conductor equally). Cost of stationery will be 

! 6,000 p.a., manager's salary is Z 4,000 p.m. who 

also looks after accounts. 

Petrol and oil will be Z 500 per 100 km. The 

bus will make 3 round trips carrying on the average 

40 passengers on each trip. Assuming 25% profit on 

Bus fare, calculate the bus fare to be charged from 

each passenger. The bus runs on an average for 

25 days in a month. 16 

5. In a manufacturing concern a certain product 'X' yields 

by-products 'Y' and 'T. 

The joint expenses of manufacture are : 

Material 3,83,000 

Labour 4,05,000 

Overhead 3,37,000 

11,25.000 

Prepare a Cost Statement showing : 

(i) Material consumed 

(ii) Prime cost 

(iii) Factory cost 

(iv) Cost of production 

(v) Total cost and Net profit 

for the year 2014-15 of Chemical Works Manufacturing 

Ltd. : 

Particulars Kg. 

Stock on 1" April 2014 : 

Raw Materials 2,000 20,000 

Finished Mixture 500 17,500 

Factory Stores 72,500 

Purchases : 

Raw Materials 1,60,000 18.00,000 

Factory Stores 2.42,500 

Sales : 

Finished Mixture 1.53,050 91,80,000 

Factory Scrap 81,700 

Factory Wages 17,86,500 

Power 3,04,000 

Depreciation of Machinery 1,80,000 

Salaries : 

Factory 7.22,200 

U WO --45406 
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Particulars 	 Kg. 
Office 	 3,72,200 
Selling Department 	 4,15,000 

Expenses : 

Direct 	 1,85,000 
Office 	 1,82,000 
Selling Department 	 1,80,000 

Stock on 31st March 2015 : 

Raw Materials 	 1,200 
Finished Mixture 	 450 
Factory Stores 	 55,500 

Stock of finished mixture is to be valued at the factory 

cost of the year ended 2014-15. The purchase price of 

Raw Materials remains unchanged throughout the year 
2014-15. 16 

4. The following annual charges are incurred in respect 

of a machine where manual labour is almost nil and 

where the work is done by means of five machines of 
exactly similar type and specifications : 

(i) Rent and Rates (Proportional to 

the floor space occupied) for the 

workshop 

UWO--45406 	 8 

(ii) Depreciation on each machine 	50,000 

(iii) Repairs and maintenance charges 

for five machines 	 1,00,000 

(iv) Power (as per metre) @ Z 100 per 

16 units consumed for the workshop 	3,75,000 

(v) Electric charges for light in the 

workshop 
	

54,000 

(vi) Attendants : There are two attendants 

for the five machines and they are 

each paid salary of Z 6,000 per month 

(vii) Supervision : For the five machines 

in the workshop there is one super- 

visor whose emoluments are Z 25,000 

per month 

(viii)Sundry Expenses 	 49,500 

(ix) Hire-purchase instalment payable for 

the machines (including Z 30,000 as 

Interest) 	 1,20,000 

(x) The machine uses 10 units of power 

per hour. 

Calculate the Machine Hour Rate for the year. 16 

OR 
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